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2.55 0.71

2.51 0.94

2.63 0.91

2.39 0.81

2.76 0.69

2.53 0.79

2.56 0.48

X2

89

.83

15

83

15

40

.04

s2

0.54

0.91

0.64

0.63

0.63

0.44

X3

2.39

2.66

2.42

2.90

2.13

2.61

s3

0.86

0.87

0.86

0.77

0.51

x4

AT

.60

81

43

.60

91

58

s4

0.91

0.80

0.94

0.86

0.93

0.54

x5

11

28

34

.26

38

AT

.36

0.81

0-70

0.42

2.43

2.55

2.47

2.16

2.81

2.70

0.79

0.88

0.88

0.80

0.80

0.75

0.43
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24
(XT)
2.70
(X2= 3.04)
(X3= 2.61)
(X4= 2.58) ( )

(X1= 2.56) (X5= 2.36) /!

63.
X = 2.81 ( X2= 3.40, x4= 2.91, x5= 2.77, x3 =
2.73, X1= 2.53)
62.
XT=276 (x2=3.15, X3=2.90, X1= 2.76,
X 4= 2.60, X5= 2.38)
60.

X =272 (X2=3.15, X4=2.81, X3

2.66, XL = 2.63, x5 = 2.34)
59.
XT =255 (xn=2.83, X4=260, X3 =
2.56, X =251, X5=2.28)

61.
Xip=2.47 (x2=2.83, X4=2.43, X3
=2.42, X1=2.39, x5= 2.26)
58.
XT=2.43 (x2=2.89, X1=2.55 X3=2.39, X4 =

2.17, x 5= 2.11)



25

df

233
231

13.1883
53.2698
66.4581

*p <.05 (.05 F4,233 = 2.37)

25

26

MS

3.2971
0.2286

87

14,4213~

.05



(-

26

2.36
2.56
2.58
2.61

2.61)

0.20 0.22 0.25

0.02 0.05

0.03
*p <05 = 0.27

26
(X2= 3.04)
<xX5= 2.36) !
( ) (X1= 2.56)
(X4= 2.58)

05

88

0.68%
0.48%
0.46%
0.43%



27

64.

65.

*66.

67.

68.

69.

3.33 0.72

2.92 0.57

3.20 0.76

2.90 0.80

2.82 0.86

2.57 0.74

2.95 0.41

3.53 0.54

3.08 0.58

3.64 0.52

2.89 0.99

3.09 0.60

2.89 0.61

3.17 0.34

X3 s3

3.39 0.80

2.98 0.65

3.61 0.49

2.54 0.78

2.83 0.89

2.34 0.73

2.94 0.48

3.10 0.93

2.88 0.71

3.00 0.83

2.64 0.85

2.36 0.85

2.52 0.83

2.75 0.50

2.96 0.68

2.62 0.66

3.23 0.82

2.34 0.81

2.47 0.85

2.47 0.67

2.73 0.33

3.26 0.76

2.89 0.65

3.43 0.66

2.73 0.86

2.72 0.85

2.57 0.73

2.82 0.44

9O,

(o V\.,’n‘.':'p“,
~

~
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27

(X 1) 2.82

3.17) ( ) (X1= 2.95)
(X3= 2.94)
(X4=2.75) - (X5= 2.73)
66
XT=3.43 (x2=3.64, x3=23.6, x5=3.23, X1=3.20, X5 =
3.00)
64
XT=13.26 ( x2=3.53, x3=23.39, x:=23.33, X4=3.10, X5= 2.96)
65
X =289 (x2= 3.08,
Xx3=12098, X1=12092, x4=2.88, x5=2.62)
67
XT =273 ( X1=2.90, x2=2.89, x5=2.64, x4 =
2.64, X3 = 2.54)
68
XT =272 (X2=

3.09, X3 2.83, X1=2.82, X5=2.47, X4 = 2.36)

69 X

=257 (Xx2=2.89, X1=2.57, x4=252, x5=2.47, x3 = 2.34)



28

df

4
233
237

*p <.05 (.05 F4,233 =

28

.08

S
6.9029
38.8591

45.7620

2.37)

29

MS

1.7257
0.1668

91

10.3474~



2.73

2.75

2.95

3.17

29

*p <.05 = 0.23

29

"= 2.94)

Tk ? 9
0.02 0.21
0.19
(X5= 2.73)
(Xa= 2.75)
.05

0.22

0.01

(X ¢

92

0.44%*
0.42*
0.23*

0.22

3.17)



10.

11.

30

.03

.68

.22

11

.89

.68

.05

.61

.63

.56

.96

.85

.36

42

.53

.38

47

.56

.63

.46

.44

.48

41

.27

X;2

.96
.69
.21
.20
.78
.53
17
.07
.81
.04

17

.86

.36

.37

B

.31

.51

.50

.56

.34

.43

44

.34

.31

X3

.94

.67

.19

17

.82

.55

.01

77

ol s

.61

.95

.85

0.53

0.51

x4

.89

.67

.06

.10

.66

.18

.64

77

.38

.58

.75

.67

%

3.02

2.26

2.45 0.68

2.65

2.16

2.36

2.73

2.58

0.59

0.55

0.53

0.42

0.33

0.33

XT

3.18

3.11

0.41

0.43

2.87 0.68

2.99

2.54

2.70

2.82

0.47

0.55

0.43

0.44



30 » »
» » »  (Xrp) 2.76
» (X2 = 2.86) » »
( » ») (X1= 2.85) » <3 =
2.85) » » <x4= 2.67)
»  » » (X5= 2.58) » »
L. XT =3.10 <X1 = 3.22, x2
3.21, x3 = 3.19, x4 = 3.06, X5 = 3.02)
2. XT =3.11 (X =3.20, X3 =3.17, X1
= 3.11, x4 = 3.10, x5 = 2.99)
3. XT =299 (X =3.61, X2 =
3.07, x4 =2.77, x3 =2.77, X5 = 2.65)
4. XT =2.94 ( Xx*x=30.3, X2 = 2.96,
x3 = 2.94, x4 = 2.89, X5 = 2.86)
5. XT =287 (x2 =3.17, XL =
3.05, x3 = 3.01, x4 = 2.64, X[ = 2.45)
6. XT =284 (X = 2.89,
x3 = 2.82, x2=2.78, X4 =2.66, X5=2.60)
7. XT = 2.82 ( x2 = 3.17, x=
=2.96, x3 =295 x4 =275 X5=273)
8. XT =270 (X2 =3.04, X3 =261, x*
=2.58, X =256, x5 2.36)
9. » XT =2.66 ( x2 =269, X =
2.68, x3 =267, x4 =267, X5 =261
10. xr =254 (X2 =281, X3
2.71, xx = 2.63, x4 = 2.38, X5 = 2.16)
11. » XT = 244 (X =268, x* =
2.55, x2 253, x5 2.26, x4 2. 18
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42' - d -~ - <o o
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df SS MS F

4 4.8025 1.2006 11.89478
233 23.5183 0.1009
237 28.3207

*p <.05 (.05 F4,233 = 2.37)

31
.05

32



32

2.58
2.67
2.85
2.85
2.86

(X1= 2.85)

.05

32

<X5= 2.85)

96

0.09 0.27* 0.27* 0.28*
0.18 0.18 0.19*

0.00 0.01
0.11
. N
1 »
(A= 2.86)
( )
<M= 2.58)
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